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What will be the sum of the first 20 odd

nétgral numbers ?
(A) 210
(B) 300
(C) 400

(D) 420

How many such numbers are there
between 1 and 100, each of which is not
oﬁly completely divisible by 4 but also

contains 4 as a digit ?
A 7

(B) 10

(Cy 20

(D) 21

If the sum of two numbers is 9 and the

sum of their reciprocals is %, .then those
numbers will be

(&) 1and8

(B) 2and7

(C) 6and3

(D) 4and5

4.
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The shows the

expenditure details of a family. If the total

following pie-chart

expenditure on food is ¥ 4800, then hbw

much is the total expenditure on all the

items ?

(A) ¥ 15,000

(B) ¥ 16,000

(C) ¥ 17,000

(D) T 18,000

- Ram spends 65% of his salaryl' and saves

T 525 per month. Then - what is his
l:nonthly income ?

(A) <1200 -

B), T 1500

(C) ¥ 1800

(D) ¥ 2100
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(A) 8ad _ MB) 2,4,3,1
(B) 9w (C) 4,321
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(D) 3,4,1,2
D) 1299 '

8. e s & midm < |
_ 3 <hIf B 4:359 x 4-359 — 1-641 x 1-641

36, 72, 49, 45, 60, 33, 52, 61 3 72 10- 4359 — 1641 FHATR ?
(A) b2 ' A) 63

(B) 60 | B) 60

© 49 (Cy 50 -

® él | . | Dy 7-3
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The average of 4 consecutive even
numbers is 27. The largest of these

numbers will be
(A) 32
(B) 36
(C) 30

(D) 28

The present ages of A and B are in the
ratio 5 : 4. Two years ago the ratio of their
ages was 4 » 3. What is the present age of

A?

{A) 8 years
(B) 9 years
(C) 10 years

(D) 12 years ' -

Find the median from the following data :

36, 72, 49, 45, 60, 33, 52, 61 and 72

(A) 52
(B) 60

(C) 49

(D) 61"
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Arrange the following in descending order

of their magnitude :

(A)

(B)

(®)

(D)

The value of

is:

(A)

 (B)

()

(D)

5
7

3
4

o

| oo

1,2,3,4
2,4,3,1-
4,3,2,1

3, 4”1: 2 .

4359 x 4-359 — 1-641 x 1-641
4359 — 1:641

60

5-0

73
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If the number of accidents occurring in the

accidents occurring on the side of the

road, then

(A) Make - the citizens aware .and

construct speed breakers

(B) Organize celebrity events

(C) Infer that walking in the middle of

the road is safer

(D) None of the above

Postponement of an event is an

édn;inistrative way of
(A) Taking time for better preparaﬁon
B Teachiﬁg a lesson to the populace
(C? Both (A) and (B)

(D) None of the above

14.

(7-A)
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18. If ‘No S is P’ is a false statement, then

middle of the road is much more than the|

which of these statements-is _necessarily

true ? |
(A) AllSisP

(B) SomeSisP

(C) SomeSisnotP

(D) None of the above

If you find-that the question paper is too
difficult and seems to be out of the

syllabus, what will you do first ? -

(A) Tell the examiner that questions are

Opt of course
(B) Copy from others
(C) Walk out of the examination hall

(D) Try to solve Ith'e questions as much as

possible
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(A) 96. . : (A) 219w, 1980
(B) 97 | - (B) 22 JeITE, 1980
(C) 98 (C) 23, 1980
(D) 99 ' _ (D) 24 IS, 1980

- 16. IR HIE TFA 80% T At B, fet 209 it e[ 19. A A TR T @ wd A o o d oh

My, ApagEdt &l < o P ok Q §, Wi P, Q & arferw
(A) 50% - R, QT TR T R g A
T |
B) 42% -
(A) nP2
(C) 44%
B) Q2
(D) 56% .

(C) P2 + nQ?

. (D) #P2 - Q2
17. aﬁwPaﬂ;wQ%aﬁaﬁe@x%m%

i T Q o W R F A gl y Feaf,
L AT PIRIM RS A A g (20 Folwdmws _ sBemd
(A) x+y | | w e
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(C) x+yd F A TR o ) ©) s
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15. The next number in this series will be 18. If 24t July, 1979 is a Tuesday, then

’ . which of the following days is a Tuesday ?
71,73, 79, 83, 89, _?_ ’

(A) 215 July, 1980 -

(A) 96

B) 97 (B) 2204 July, 1980
(C) 98 o S (©) 2374 July, 1980
(D) 99 : (D) 24t July, 1980

16. If a shop gives 30% discount and then|19. If two cows are tied to a’common pole and

provides another 20% discount, then the th'e‘lengfh of the ropes are P and Q, where
“total discount will be _ | P is greater than Q, then the total area '

(A) 50% ' l grazed by both the cows will be ___ .

(B) 42% B ] @

© 4% . | . B Q?

D) 56% ©) P2 + Q2

(D) nP2 — Q2

17. If the distance between city P and city Q
is x km.and the distance between city Q

and city R is.y km, then the .distance 20. Decision—making isa process. -
between city P and city Ris . '

: (A) Cognitive
(A) - x+y

(B) Superficial
(B) greater thanx+y ‘ .

) ' (C) Random
(C) lessthanorequaltox+y .

(D) None of the above (D) None of the above

2RSP3/11/2023 L (9-A)
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(A) e
(B) Hreer
(C) SmE
(D) wmed

ai¢ frel @i W § 34687 a?r' 43778
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(A) 56683
(B) 55683

(C) 55738 °
(D) 96873
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(A) Treie

(B) g

(C) =
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(A) . Fdam

(B) o *

(C) i

(D) UBdmT
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| 2023 Y sig-ar féq o1 7

(A) TEar

(B) TeaR
(C) guar

(D) WITER
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378 Y IEHT TAM R BT 2
A 17
(B) 18

(C) 42

(D) 43
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22.

Few names are given that -share a
common feature, except one. Choose the

odd one out.

(A) Iceland ]

(B). Malta

(C) .Japan

{D) Belarus .

. If in a code language, 34687 is written as

43778, how will 47592 be written in that
code language ?

(A) 56683

(B). 55683

(C) 55738

(D) 56873

23.

_)_.—l‘"

b

24.
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If “man’ is called ‘woman’, ‘woman’ _ is
called ‘boy’, ‘boy’ is called ‘girl, ‘girl’ is
called ‘pilot’ and ‘pilot’ is called ‘child,
then who will fly the aeroplane ?

(A) Pilot '

(B) Girl

(©) Child

(D) Man

On the basis of the following analogy,
choose the correct option.
Prediction : Future : : Guilt :_?

(A) Present .

" (B) Misdeed

(8] .Past

" (D) Repent

25.

26.

27.
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If 30t January, 2023 was Monday, then
what was the day on 2nd March, 2023 ?

(A) Sunday

(B) Tﬁursday

(0) Wednesday

(D) Tuesday

Manoj ranks seventeenth in ‘a -class of
59 students. What is his rank from the

last ?

(A 17

(B) 18
(C) 42
(D) 43

Choose the diagram that best represents

the relationship among the given classes :

_Engineers, Accountants, Professionals

o o
(A) @
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28. f=fafes § @ $ta-ar Uk I5g “Educational”

29.

30.
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(B) NATIONAL

WG %k A FI IV Fh @ R W
Hehell B ?

(A) LION

(C) DEAN

(D) NEAT

e AW 1/ 100 7% o gEn e §
A et a7 R 9

(A) 20
(B) 21
(C) 22

D) 19

“GRiT W wew T ¥ 2 sd aw
“Stebral’! = Ty qg |

(A) I3,
(B) %™

(C) wSmfmm

(D) Tef¥mEr

32.

33.
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. STt S ) e R 2

(A) IarEar
(B) & €eyr
(C) 9" i i

(D) IR 3w

HIEATeh T T 8 92
(A) d= fogeror

(B) ey

| ©) 'FI'FQHUT

(D) SA-EFH T Fraferd

“GEr w1 T ot % v @ g
3 1 =g it R & 0

(A) Ufsw

B) W

(€) X

(D) B
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Which one of the following words cannot
be formed by using the Ietters of the word

“Educational” ?
(A.) LION
(B) NATIONAL
(C) DEAN

(D) NEAT

If you write down all the numbers from
1 to 100, then how many times do you

write 7 ?
(A) 20

(B) 21 .

(@) 22

(D) 19

. “Berlin” is related to “Germany”_ in the

same way as “Jakarta” is related to
(A) UK

(B). France

(-_C) Indonesia ‘

(D) Malaysia

31.

| 32.

(13-A)

33..
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From the options listed below, identify the

barrier in communic_ation.
(A) Disinterest

(B) Clgar message

(C). Lack of confusion

(D) Physical comfort

What does an interview imply ?

. (A) Data analysis

(B) Observation .
(C) Communication .

(D) Face-to-face conversation

“Communication is the transference and
understanding of meaning.” Who gave
this definition ?

(A) Robbins.

(B) Stewart

(C) Taylor

(D) McGregof
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(D) Feit It

35.
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39.
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Hefem g7 27
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:_)’4' Training in Brainstorming signifies 38. Which of the following is not related with

(A) Decrease in creative problem solvfng Social Networking ?
+(B) Increase in intelligence ]
: . (A) Threads '
(C) Neutralising of creativity oo
(D) Decrease in intelligence (B) ' LinkedIn’
35. From the options listed below, identify (C) Instagram
which one is not a communication skill. ’
. (D) eBay
" (A) Active listening
(B) Empathy -
(C). Complexity 39. Which one of‘the f‘ollowing options is not a
(D) Open body language ] part of conflict process ?
86. Which one of the following is not a (A) Potential OPP osition or
component of Emotional Intelligence ? incompatibility

(A) Self-awareness

B) Intenti .
(B) Self-motivation (B) Intentions

(C) Conflict representation (C) Motivation

(D) Social skills _
_ (D) Behaviour

37. What is Problem solving ?

(A) The ability to identify the problem,
cause of the problem, analyse

solutions and implement the best 40. Which thinker said, “Non-verbal elements

" solution. ) are more important in communication” ?
i .
(B) The ability to describe the
traditional knowledge . of (A) Bandura
communities accumulated: over
several generations. (B) Mehrabian
(C) The ability to help two parties to ,
resolve their differences. ) (C) Ellsworth

(D) The ability to read books and
- give/provide comprehensive and
detailed information about an issue.

(D) Carl Jung

2RSP3/11/2023 ' (15-A)
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Questions No. 41 - 45 (Based on Passage-1)

42, Subjective experience that uses imagery is

Passage-1 (A) Cognition

_ . Stres&:, plays a mgmﬁcant role in (B) Personal experience
physical diseases. Hypertension, heart -

disease, diabetes and even cancer are- (C) Emotion

linked to high level of stress. Therefore,

_ . (D) Creative visualization
knowing techniques to manage stress is

very essential.

] ' ) . 43. The approach to replace irrational
Relaxation  technique is an
important skill that reduces symptoms of thoughts with rational ones is called
stress. It calms the mind and relaxes the : (A) Meditation
body. Deep breathing is used in this '
technique. The yogic method of meditation _ (B) . Cognitive behavioural technique -
consists of a sequence_. of learned ’(C) Creative visualization ’
techniques for refocussing of attention that o _
brings about an altered state: of (D) All of the above -
consciousness. The biofeedback is' a
procedure to develop awareness to monitor

o 44, Which technique is used .to calm the
and reduce the physiological aspects of . : :

ind ?
stress by providing feedback about current mind ?
physiological activity. " |- (A) Relaxation technique
Creative visualization is a subjecti‘ve (B)- Biofeedback '

expeﬁence that wuses imagéry and -
imégination. Cognitive - behavioural (€)  Meditation
techniques are meant to replace negative (D) Courage
and irrational thoughts with positive and

rational ones.
45. Refocussing of attention could be done by

41. Developing an awareness for the which of the following techniques ?
physiological responses is known as ! (A) Relaxation
(A) Visualization .
(B) Meditation
(B) Learning |
(C) Biqfeedi)ack (C) Change in personality
(D) None of the above ) . _ " (D) All of the above
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Questions No. 46 - 50 (Based on Passage—2) 47. Stress is not generated by which one of

Passage-2 ‘ the following ?
All the challenges, problems and (A) Challenges
difficult circumstances put us to stress. (B) Problems

Thus, if handled properly, stress increases

the probability of one’s survival. Stress. (C)  Difficult circumstances

gives energy, increases. human arousal (D) "Resources
and affects performance. High stress can

produce unpleasanf effects and cause our |48, Eustress is

pei‘formance to deteriorate. Conversely, .
- (A) Sometimes good
too little stress may cause one to feel low '

on motivation, which may lead us to (B) ,Bad
perform slowly and less efficiently. It is . (C) . Always good
important to remember that not all stress (D) None of the above

is inherently bad. ‘Eustress’ is the term’
used to descrlbe the level of stress that is 49, Whic_h (’)f the following causes weal.' and

good and is one of a person’s best assets tear in our body ?

for achieving peak performance. Eustress,

. N (A) . Eustress
however, has the potential of turning into ’

‘distress’. It is this latter manifestation of (B) Distres.s
stress that causes our body’s wear and (C) Normal Effect
tear. (D) Both — Distress and Eustress

46. Too high level of stress leads to 50. Little stress may cause

(A) High perforrhance . (A) Low motivation
(B) Low performance (B) High motivation . J
(C) Pleasant effect (C) No effect on motivation . -

(D). Both high and low effect on
' motivation

(D) All of the above
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51. If‘+’ means “+, " means ~, ““ means *’|53 ¥ and Y are two brothers. B is the brother

d <’ ‘+’ th '
and X' means en . of A and A is the mother of X. How is B

. 12+46+3-2x8=7 ' related to Y ?
@) 8 % | (A) Maternal uncle
(B) Mother
1 : : .
(B) 95 - S | {(C) Brother
1 . (D) Father
(C)y 9=
4
@) 9% : . e
2 : 54. Just as ‘Court’ is related to ‘Justice’, in the

same wlay ‘School’ is related to which of
. . . 9

52. Which of the following figures shows the the following

relationship between tables, chairs. and (A) Class

farniture ?
: (B) Student . .
(A) " (C). Teacher -

(D) Education

55. Select the odd one out from the options

given below.
(A) Aeroplane
' (B) Bird

(C) Tanker

(D) Aerial umbrella

2RSP3/11/2023 . (21-A)


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

AddgH7

56. feu v foenedl # @ w=Ra wumar S

57.

68.

2RSP3/11/2023

g o
FOU HH o 2

(A) T

®) et

©) =

(D) Wt

’i’@ﬁl%‘g’ﬁ&ﬁ(@fﬂﬁ'ﬂ;.

ABC, GHI, MNO, ?

(A) RST

(B) STU
(C) PQR

(D) QRS

afy felt e % A YR W 16 e 2,
& S W F D iR B e wow
eft 2 | ‘

(A) 25

(B) 26

(C) 27

(D) 28.

59. foqed e s AR ;

60.

(22-A)

12, 21, 23, 32, 34, 2
(A)- 43
(B) 37

(C) 36

(D) 42

A 8
(B) 24
(C) 30

(D) 32

GET IT ON
Google Play §


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

L A i

56. Choose the word with related similarity|59. ¥Find the missing number :

from the given options.

12, 21, 23, 32, 34, ?
Room : Floor : : River: ? :

(A) Bottom = (A) 43
®) Fish | | ® 37
.(C) Whale . '

- o 1 © 36
(D) Water '

D) 42

57. Choose the missing letters of the series
ABC, GHI, MNO, _?_

(4) RST 60. Find the missing number:

(B) STU : )
(C) PQR _ :

) ) 4 16 \ -
(D? QRS ‘ : \ 9 ij ? /

58. If 16'h is on the third Friday of a month,
then which date will fall on the fourth

Tuesday of the same month ? : - (A) 8
(A) 25 (B) 24
(®) 26

(C) 30
(C) 27 '
'(D) 08 (D) 32
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